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[11-1] B /(A X =T L )=/=/)\ T x=)L =—T )LJA 35 34 34
[11-2] (A F =T L )= /=N T =)L =—F VIR 220 0.4 0.4
[11-3] (A X =F L )=/= )T x=/L=—F )LHH 210 0.5 8.1
[11-4] TRoFxR v =FLN)=/= VT ==L =—TF VI 220 0.8 1.9
[11-5] LA (AXL =T L o)== )V T =)L =—T LI 160 0.6 0.6
[11-6] ~FH(AFL TF L )=/ =)L 7 =)L T—F )L 120 0.6 18
[11-7] ~F XA X T L )=/ =V T =)L =—TF LFH 86 0.8 2.8
[11-8] A/ #(AF =T L )=/)=)L 7 =)L = —7 )L EH 73 0.8 1.2
[11-9] /T (FFL=F L )=/= LT =)L =—TF /LI 59 1.0 1.6
[11-10] T H(FF L =T Lo)=/= LT ==L =—7 )L} 45 0.5 2.4
5;1@1-11] VT H(AFTZTF L)/ =N T 2= —T )L 42 05 0.9
AR
[11-12) FT (AT F L )=/ =V T === —F )L 29 0.6 1.4
[11-13] NUTF H(AFL =F L )= ) =)L 7 = =)L =—F )LJH 17 0.7 1.1
5{1@1-14] TRZT (X T L )=/ =V T =)L —T )L 13 0.9 17
AR
[11-15] o Z T (A FT=F L )=/ =V T 2 =)L T—T 1 06 27
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